ERPINFRE SR
21.2—T5—iIXB1E
——TC—IRBERAARIZU (1)

£ B LFER 2 #: HFE (AFR)
FHA: R &K ¥ B XTEFET=ZFFI4R




R\ ZRii=RIR

= 3] [o] )

1fF— LR FALE) T iEA
AEIT-FoH &k, A *x, Nk, B X5%*k

2. BLTy ik Fams Xk = — L= R A2 09 il k.

?JJ P



R\ ZRii=RIR

E %
X

— LR T ARGARGF L, wyR e B Rk R

?JJ P



R\ ZRii=RIR

— LR IEKIRATUHIESIIIE

ax’+bx+c = 0(a # 0).

fE WA B B R VAa, AT
b c
x“4+—x+—=0.
a a
B, fr
C
b= —
a a

?JJ P



R\ ZRii=RIR




R\ ZRii=RIR

(x+JZ)2__b2—4ac

2a 4a°
WA a0, B 4a® >0.
b’ —4
L h*—dac>0 B, 4.fCZQ
a
x+£L—+JEt¢mc
20\ 4a*
7 AR I HAk.
.x_—ittJb2—4ac
2d '

|iﬁﬁﬁﬁ%I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII



R\ ZRii=RIR

wT a0,  Prild4a’ >0.

Bh* —dac<0 AT,

bY b —dac
xt+— | = — < 0.
2a 4a

2a

?JJ P

2
X IRAEAT 52 2R TR e Ad (x+ i) <0, B b7 42 T 5% HAk.



R\ ZRii=RIR

5| NHTEA

—fEH, R F b —dac P — =k FH2 ax’ +bx+c=0(a#0)
Reg AR X, BFAFBEFF AT RTE, B A=b’—4ac.
3

B pr_dac>0 B, FTAER FARAR;
L b*—dac<0 B, HAREAR FEIAR.

?JJ P



RO ZRiiER IR

E %
X

BB FHAR T AT, RAVLAE ) B 8 5 BUR AT L 15 LR?

?JJ P



R\ ZRii=RIR

— =k FR ax” +bx+c=0(a#0)

b* —4ac

L A=b"—4ac>0 0, iX AT > 0.
da’
2
x+i:i\/b iac.
2a da

7 AZA B AT AB FF 55 Bk

—b+\/ b’ — 4ac —h —\/ b’ —4dac
X, = , X, = .
2a 2a

?JJ P




R\ ZRii=RIR

— LR FH ax’ +bx+c=0(a#0)

2
5 A=b>—dac=0 8, D —4ac_,
4a°
—b+0 —bH—-0
X, = , X, = .
2d 2d

77 A2 W A8 S 52 O
b

_%_

?JJ P

=00 =



R\ ZRii=RIR

UEE
— =k FHAR ax +bx+c=0(a=0) HEGEN:
L b —dac>0 B, FARR FATARSF A R
L b’ —4ac=0 B, FAZH B AHEEF G LKA

L b —dac<0 B, HAZEA FLHAR.

?JJ P



R\ ZRii=RIR

Bl RRE — TR FAAR, P T 5] A28 15 L
A=b"—4ac

(1) 2x°=5x+1=0;
(2) 2x*+x=3x-1;
(3) x—|—2:(x—2)(2x—1)+%;

(4) 2 422x+6=0.

?JJ P



R\ ZRii=RIR

Bl ARy — ok HAGE, FIETT 5 7 ARG F 2L
(1) 2x"=5x+1=0;
e (1) a=2,b= -5, c=1.
A=b*—4ac=(-5)—4x2x1=25-8=17>0.

O — LR AR W AN INAR S0 52 AR

?JJ P



R\ ZRii=RIR

Bl RNRKE — =R F AR, P T 3] 5 F2AR6 L
(2) =2x*+x=3x-1;

f. AFFEA 2x7+2x—-1=0.
a=2 ,b=2 ., c=-1.
A=b"—4dac=2"-4x2x(-1)

=4+8=12>0.
L b— LS R AR B AN TAR 0 5L BOR

?JJ P



R\ ZRii=RIR

JEE2

g AL, P — L= R Ty ARAR Y T oL ey — R R
(1) —=A=RFEA—BF X ax’ + bx+c =0(a #0);
(2) #ZFH7AER & 2Ka, bR FIHAcHh;
(3) ¥a, b, cWERNFIA X A=b"—4ac KAE;

(4) #HHE A=b"—4ac 918 , P A 7 F2ARG H L.

?JJ P



R\ ZRii=RIR

Bl AR — =R ARGk, HIBT T 7 g AR ey g oL
9
(3) x+2:(x—2)(2x—1)+5;

(4)  ¥24+22x+6=0.

?JJ P



R\ ZRii=RIR

(3) x+2:(x—2)(2x—1)+%;

R ACHAEAN 457 —12x+9=0.

a=4,b=—12, c=9.

A =b"—4ac
:(—12)2 —4x4x9
=144 -144 =0.

SO — LR FARA B AR T 5 SR

?JJ P



R\ ZRii=RIR

(4) x* +2/2x+6=0.

fR.  a=1, b= 2.2,
A=b?—dac = (2\/_) _4Ax1x6
—8-24=-16<0.

L — LR AR 5L B

?JJ P



R\ ZRii=RIR

B2 ETBFZARGEILT, AT LT — TR HFE
mx® —(2m+1)x+2=0(m=0) ARG, A =p2—_4gc

. a=m, b=— 2m+l) , c=2.
A=b*—dac=[~(2m+1)] —4xmx2
=(2m+1)" —8m
=4m” +4m+1-8m
=4m> —4m+1

:(2m—1)220. A=b"—4ac>0

?JJ P




R\ ZRii=RIR

TR

LA=b"—4ac>0 i,

?JJ P



R\ ZRii=RIR

TR

L A=b>—4ac >0n,
— LR F AL R P AT 48 5 69 55 2%

BA=b"—4ac>0 i,
LA=bh"—4ac=0Ht,
— LR A AER M N4 569 92 HOR.

?JJ P



R\ ZRii=RIR

TR

BA=b—dac>0 0, —L=RFHFH M A 5L HHR.

?JJ P



R\ ZRii=RIR

TR

BA=b"—4dac>0 i, —a=k FHH LIk

?JJ P



R\ ZRii=RIR

B2 BB FAZNEILT, P TI X T —T_RKRHFE
mx® —(2m+1)x+2=0(m=0) FR65H .
. a=m, b= — 2m+1l) , c=2.
A:b2—4ac:[—(2m+1)]2—8m
=(2m+1) —8m
=4dm* +4m+1-8m

=4m” —4m+1

= (2m — 1)2 > 0.

Bl mx® —(2m+1)x+2=0(m=0) A J2 2AR.

?JJ P



R\ ZRii=RIR

B3 BB AZARGEILT, AIB T X Tx6 742
xz—(m-l—Z)x-l—m:O AR B L.
. a=1, b=—(m+2) , c=m.

A=b*—4ac

A:b2—4ac:(m+2)2—4m
=m" +4m+4—4m
=m" +4.

WA m >0,
Frvh m’+4>0.

CR— LR AR R W AN NAB S 89 52 R

?JJ P



R\ ZRii=RIR

Bl4 RiE: RkBRTEH, £Txti—A=kFHE X +(k-1)x+k-3=0
,uﬁlﬂj/\jj‘ﬂ 0 5 AR A=b>—4dac>0

WEBR:  a=1, b=k-1,c=k-3.
A=b"—4ac=(k-1) —4(k-3)
=k>-2k+1-4k+12

:k2—6k+13 E]ﬁ (k—3)220,
=k’ —6k+9+4 i VA (k—3)2+4>0.
2
=(k=3) +4. L H— ALk AR AN R AR S 64 52 HAR

Iiiiﬁﬁ%I.IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII



R\ ZRii=RIR

INGG
L— = ok A AEAR 69 H] 3 K69 2 3L

2.0 — =R 77 A2ARAY F| 5] X F) R — U=k 77 AEAR A9 17 OL.:

L b2 _dac>0 B, ZAERH TN TAB S 6 52 KA,
L h2_dac=0 B, ZAEA M AR F A 52 HAR;

L b’ —dac<0 B, FTREA FHAR.

?JJ P



R\ ZRii=RIR

INGG

1. — 7L =R 75 AEAR A9 ) ) X, 9 2 3L
2.0 — =R 77 A2ARAY F| 5] X F) R — U=k 77 AEAR A9 17 OL.:

L b —dac>0 B, FAEH ML AR,
ST AEA G- FAK;

L b’ —4ac<0 0, FALEA LA

?JJ P



R\ ZRii=RIR

R R

LAV )3 XA T 5 7 A2 69 AR 49 1 2L,
(1) 2x° —3x—% =0, (2) 16x* —24x+%:O,
(3)x? —4/2x+9=0, (4)3x° +10=2x" +8x.

2. B RNEFTAZGIE LT, P X TX8— LR 7 42
x> —dax+3a=0 ARG .

3.KAE: ANEmBAT R, RTFxa) 74 X —(2m+1)x+2m=0
B 5% AR

?JJ P



EXPNMAFESH

BFM], BA!




